Question 1

a) The parameters for both D1 and Dz in the circuit shown are Vy K2
=17V and ry= 20 Q. The current in cach diode is to be limited to
ISmA when ¥ = +9V. Determine the value of R given that the
breakdown voltage for each dmdc is 100 Vand r, =30 Q. Yo R
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b)Given the circuit shown where Vs 9sm(a)t) . Sketch Vo(t) and the = WA/ .
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Question 2 g’_f_/,ﬂ_{;w”/ b '_J,f - u‘i‘.
af( Amsider the Zener diode circuit shown Let Vi =60V, B, =150 £2 v | iv i 1
,and Vz - 16\!-‘ Assume 1, = 0 €2 The power rating of the diode is l’ ’2' V t J
4 W and thf: minimum diode current is 1o be S mA. Vi % 'z g’i .
(a) Determine the range of load currents. - | "
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(b) Determine the range of load resistance.

Jp = \L \ 4§ i
\/L'—‘—:& " JL = 2o i’.u ' .~‘_:
R A
LY Y
0.3 f
1
'~ b)The cut-in v e of each diode in the circuit shown is 0.7V. Determine Io:, -4V
Inz, and Iz Use the assumption that all diodes are ON. — - ;',
J— — 1y

e T L2, -
Orgsanme Dg""& c’%_l_qot sy B %

I m-
DI oM %:in
D
Dﬂ ! ON By = =
y 5x0
vp ® /,' _: LY ,;
-y 4o} + Iy brrd nhellops oo
e 2 =5 =0 T
0.7 4 tora(To B =5 =0 |
— ’ “ _ i - - ql\ L’A ’ j"c_j:t’,':l"‘—“
o t‘»U,o.ar‘,.,.,) -A.3 Lo, = 5ga ?*’E;’;Z??-‘:n“""fé
N Sop,n

\ooP(‘)‘: e W:Z tfp, = 06.993
‘ e —

e A TS ————— I sl

Scanned by CamScanner



Question 3 :
a)eonsider the circuit shown where 8 <120, and Vi - 0.7V

Calculate Re, and I¢ . oy
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b)consider the circuit shown where =120, and Vseon= 0.7V. Calculate V¢, andIg.
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’I?kage » Sketch v, versus

Vi i1s a sine wave of 10
sume Vy =0.7V
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